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Block:  __________

1)  Evaluate the six trigonometric functions of θ.
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[image: image40.png]a. Cn:ale a table using the equation
d= sm 26 where d is the horizontal

dlshnce (in feet) traveled by a golf
ball launched at an angle 6 with an
initial speed v (in feet per second)
for angles between 25° and 65° in
5° increments.

b. What value of & appears to maximize
the horizontal distance traveled by
the golf ball? Use the formula for
horizontal distance traveled and the
unit circle to explain why your answer
makes sense.
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2)  Complete the following chart:
	
	0˚
	30˚
	225˚
	300˚
	270˚

	sin θ
	
	
	
	
	

	cos θ
	
	
	
	
	

	tan θ
	
	
	
	
	

	cot θ
	
	
	
	
	

	sec θ
	
	
	
	
	

	csc θ
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3)  Given sin θ=2/5, find cot θ, sec θ, and csc θ.
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4)  CSC is the reciprocal of what trig function?

____________________

5)  The cos 90˚ is equal to _______________ of 0˚.

6)  Convert the following to radians.


225˚=__________


42˚=__________

7)  Convert the following to degrees.



[image: image10.wmf]__________

15

p

=




[image: image11.wmf]6

__________

25

p

=


8)  Drawr the following angles (include the spiral and terminal ray.)
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a.  325˚
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b.  -260˚
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c.  
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9)  Find 2 positive and negative coterminal angles for each given angle.


a.  
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b.  
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[image: image32.png]Concert You attend a music concert with some
friends and sit halfway up the bleachers in the
arena. The angle of depression from your
horizonial line of sight to the stage is 24°.

I your seat is 45 fect above stage level,

what s your actual distance d from the stage?
Round to the nearest foo.



10)  Given the point (-4-2), find the sine, cosine, and tangent of the reference angle created by the terminal ray.
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11)  Evaluate the following trig functions.  Use exact values and show your work.


a.  
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b.  
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d.  
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[image: image33.png]Ski Lift A chair lift on a ski slope has an angle
of elevation of 287 and covers a total distance of
4640 feet. To the nearest foot, what is the vertical
height / covered by the chair lift?



12)  
[image: image34.png]MULTI-STEP PROBLEM You are flying a kite
at an angle of 70°. You have let out a total of
400 feet of string and are holding the reel
steady 4 feet above the ground.





13)  

14) Solve.  All answers should be in general solutions.

 a.) 
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x=____________________

b.) 
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x=____________________

c.)  
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x=____________________

d.) 
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x=____________________

e.) sinx + sinx cosx = 0 

x=____________________

f.) 
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x=____________________

[image: image35.png]a. How high above the ground is the kite?

b. A friend watching the kite estimates that the
angle of elevation to the kite is 85", How far
from your friend are you standing?



15.)

[image: image36.png]Open-Ended Give an example of an angle
in degrees for which the cosecant is negative
and the secant is positive.



[image: image37.png]Multi-Step Problem The track of
the Duquesne Incline in Pittsburgh,
Pennsylvania is about 800 feet long at
an angle of elevation of 30°. The average
speed of the cable cars is about 320 feet
per minute.



[image: image38.png]a. How high does the Duquesne Incline
rise?

b. What s the vertical speed of the cable
cars (in feet per minute)?



[image: image39.png]Extended Response A golf ball is hit
on a level surface with an initial speed of
105 feet per second.
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